
Explanation: readfully method can also be used instead of read method.

5. Point out the wrong statement.
a) The framework calls reduce method for each <key, (list of values)> pair in the grouped
inputs
b) The output of the Reducer is re-sorted
c) reduce method reduces values for a given key
d) None of the mentioned
Answer: b

Explanation: The output of the Reducer is not re-sorted.

6. Interface ____________ reduces a set of intermediate values which share a key to a
smaller set of values.
a) Mapper
b) Reducer
c) Writable
d) Readable
Answer: b

7. Reducer is input the grouped output of a ____________
a) Mapper
b) Reducer
c) Writable
d) Readable
Answer: a

Explanation: In the phase the framework, for each Reducer, fetches the relevant partition
of the output of all the Mappers, via HTTP.

8. The output of the reduce task is typically written to the FileSystem via ____________
a) OutputCollector
b) InputCollector
c) OutputCollect
d) All of the mentioned
Answer: a
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